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MF>=4=><4?<<?
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2.4�J9ABKAO9 ED98EF64 8?S CDB@9:GFBKAB= 4FF9EF4J<<

�>?D>EO > M>74<5=G:

1.�>?G?OF<>==4O 75=5F<>4, >4> =4G>4. �D54<5F < 7444G<
?>?G?OF<>==>= 75=5F<><.

2. �EF>D<O EF4=>6?5=<O ?>?G?OF<>==>= 75=5F<><.

3. �4GG=O= <5F>4 6 ?>?G?OF<>==>= 75=5F<>5.  47D45>F>4 7<?>F57O,

4=4?<7 44==OE.

4. �D4>F<G5E>>5 7=4G5=<5 74>>=4 %4D4<-�4==55D74.

5. �>=OF<5 > 75=5, ?>>GE5, 4??5?5, 75=><5, 75=>F<?5, D5=>F<?5,
7><>7<7>F5, 75F5D>7<7>F5, <=>65EF65==>< 4??5?<7<5.

6. #D>6=< 5<>?>7<G5E>>7> D47=>>5D47<O. �74<<>E6O7L 75=>F<?4 <
D5=>F<?4.

7. �4>>=><5D=>EF< =4E?54>64=<O ?D<7=4>>6: 1-=, 2-= < 3-= 74>>=O �.

�5=45?O.

8.  4EGUF 75=>F<?<G5E><E < 4??5?L=OE G4EF>F. !?54EF6<5 <7 74>>=4
%4D4<-�4==55D74.

9. �>?<<>DD<7< >E>55= 6 ?>?G?OF<<. �>F>> 75=>6, G4EF>F4 75=>F<?>6 <
4??5?5=.

10. �4>>= %4D4<-�4==55D74. #E?>6<O =5>5E>4<<O5 4?O D46=>65E=>7>
D4E?D545?5=<O G4EF>F 4??5?5= ?> %4D4<-�4==55D7G.

11. �=F>75=57 >4> ?D>F5EE D54?<74F<< =4E?54EF65==>= ?D>7D4<<O
D476<F<O >D74=<7<4. -F4?O >=F>75=574.

12. �5E4=<7<O D54?<74F<< 45=EF6<O 75=>6 6 ?D>F5EE5 >=F>75=574.

13. �5=5F<G5E><= 7DG7, 57> 7=4G5=<5. "<?O 75=5F<G5E>>7> 7DG74.
14. $4>F>DO M6>?NF<< 75=5F<G5E><E E<EF5< 6 ?>?G?OF<OE.

15. �<4, >4> M>>?>7<G5E>4O E<EF5<4. !FDG>FGD4 6<44.
16. �>=OF<5 > ?>?G?OF<<. !FDG>FGD4 ?>?G?OF<=.

17. �GF4F<O, >4> D4>F>D 75=5F<G5E>>7> D47=>>5D47<O 6 ?>?G?OF<OE.

18. �<7D4F<O, >4> D4>F>D 75=5F<G5E>>7> D47=>>5D47<O 6 ?>?G?OF<OE.

19.  5>><5<=4F<O < >F5>D, >4> D4>F>DO 75=5F<G5E>>7> D47=>>5D47<O 6
?>?G?OF<OE.

20. �>?G?OF<>==O5 6>?=O < 4D5=D 75=>6, >4> D4>F>DO 75=5F<G5E>>7>
D47=>>5D47<O 6 ?>?G?OF<OE.

21. �=5D<4<=7. �>MDD<F<5=F <=5D<4<=74.

22. $4>F>DO 75=5F<G5E>>7> D47=>>5D47<O 6<4>6 < ?>?G?OF<=.

23. �>7D4EF=4O EFDG>FGD4 ?>?G?OF<<.

24. �?<O=<5 75=>6 < ED54O =4 D476<F<5 ?D<7=4>4.
25. �5=5F<G5E><5 ?D>F5EEO 6 <4?OE ?>?G?OF<OE.

26. �5=5F<G5E><5 ?D>F5EEO 6 5>?LL<E ?>?G?OF<OE.

27. �EF5EF65==O= >F5>D, >4> =4?D46?ONM<= D4>F>D M6>?NF<<
?>?G?OF<=.

28. �>?G?OF<>==4O EFDG>FGD4 G5?>65G5EF64. "<?O M?5<5=F4D=OE
?>?G?OF<=. �5=5F<G5E><5 E4D4>F5D<EF<>< G5?>65G5E><E ?>?G?OF<=.
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�5=5F<G5E>4O 75F5D>75==>EFL, 55 ?D<D>44. �>=OF<5 > «75=5F<G5E>>< 7DG75»,

57> 6<4O. �>?<<>DD<7< ?>?G?OF<= G5?>65>4. �<4O ?>?<<>DD<7<4 ?>
<5E4=<7<G 57> ?>445D64=<O. �D<<5DO ?>?<<>DD=OE ?D<7=4>>6 G G5?>65>4.

29. �5=5F<G5E>4O EFDG>FGD4 ?>?G?OF<= G5?>65>4 < D4>F>DO 55
4<=4<<><. �5<>7D4D<G5E><5 E4D4>F5D<EF<><, <E 6?<O=<5 =4 75=>D>=4
?>?G?OF<<. -6>?NF<>==O5 D4>F>DO, =4DGL4NM<5 >>=F5=FD4F<< 4??5?5=,

E?5F<D<>4 <E 45=EF6<O 6 G5?>65G5E><E ?>?G?OF<OE.

30.  >?L =4E?54EF65==>EF< < 6=5L=5= ED54O 6 D>D<<D>64=<< D5=>F<?4
G5?>65>4. �5=5F<G5E>4O 45F5D<<=<D>64==>EFL =>D<O D54>F<<.

31. �4F5=F>64=<5 D57G?LF4F>6 =4GG=>7> <EE?54>64=<O.


